Yo7y (/= 1 -

GP09390100101904 Montaj Talimati (Mountain Instruction)

GP Kompozit Honda X-ADV 2017-2024 Uyumlu Koruma Demiri Siyah

GP Kompozit Engine Guard Crash Bar Protection Black Compatible For Honda X-ADV 2017-2024

Paket icerigi:
(Package Contents)

-4 Adet M8 bombe basli civata
(4 pieces of M8 dome head bolts)

-4 Adet M8 havsa pul
(4 pieces of M8 countersunk washers)

-2 Adet M8 metal pul
(2 pieces of M8 metal washers)

-2 Adet M8 imbus civata
(2 pieces of M8 hexagon bolts)

-4 Adet M10 17x10 mm burg
(4 pieces of M10 17x10 mm bushings)

-4 Adet M10 16x20 mm burg
(4 pieces of M10 16x20 mm bushings)

Kullanilacak Takimlar:
(Necessary Tools)

No:5-6 Alyan
(Number:5-6 Allen)

Montaj Videosu:
(Assembly video)

NOTE: Please do not proceed with the product assembly without reading the assembly
instructions and important precautions included in the package!!

NOT:Lutfen paket igerisindeki montaj talimatlarini ve 6nemli uyarilari okumadan iiriin
montajina baslamayiniz!!



Vo7 (%//// ="/ 10 &

Not:iki tarafta ayni sekilde montajlanacaktir.
= § (Note: The assembly will be done in the same way on both sides.) | =

6 Alyan ile orijinal vidalari sékinuz.

(Unscrew the original screws with a 6mm hex key.)

Paket icerisinden ¢ikan vidaya pulu takarak kisa burg ile koruma demirine takiniz.

(Paket igerisinden ¢ikan vidaya pulu takarak kisa burg ile koruma demirine takiniz.)

Orta bélime paket igerisinden ¢ikan uzun vida ve pulu takiniz.

(Attach the long screw and washer from the package to the middle section.)

5 ve 6 alyan yardimiyla
butin civatalar sikiniz.

(Tighten all the bolts using
a 5mm and 6mm hex key.)




	Sayfa 1
	Sayfa 2

